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Instruction: 1] Check the question paper for 13702Ss of ponting, If there 15 ans lack of

. fairness Infarm the hall superaSOr immed ately.
2) Use Blue or Black Ink to write and underine and penal Lo draw divgrame.
Hote: This question paper contans four parts,
PART -1

Hote: |) Answer all questions. 14x1=14

1) Choose the correct answer from the glven for alternatives and write the
optlon code and the corresponding answer,
1. Letn{A) = m and n{B) = n then the total number of nan-empty relations that can be dafines
from AtoDis -
a)m" b) n= c)y2™-1 d) 2
2. [{r) = (x+1)" - (x-1)" represents a function which is
a) Lincar b) Cubic ¢) Reciprocal  d) quadratic
3. The sum of the exponents of the pnme factors in the prime factorzation el 17295 ks
a)l b) 2 c)3 d)4
4. The sum Lo Infinite number of lerms in a G.P Is

a)na b]IL ar ' d]f

S. v+ .'. Is not equal to .
. A
a) By + 1) (e L a) vy
6. If number of calumns and rows are pot cqual in a matrlé then it ks said 1o be a
a) Diagonal matrix b) Rectangular molrix
¢) Square matnix d) I[dentity malrix
7. Arangent is perpendicular 10 the radius at the
a) Centre ) Fql.nl. of contact c) Infinity d) Chord
B. 1fslope of the line PQ 7 Is then slope of the perpendicular bisector of PQ is
!
a) & b) -3 c) 5 d) 0
9. (2,1) is the point of Intersectian of twao lines 3
a}:-v-]=ﬂ;]u+y-?-hﬂ%x byx+y=3,3xty=7
QIa+y=3xiy=7 y dx+3y-3=0;x-y-7=0 .
10. I Sx=sec0and = =ta1nn;thcnx=- — Isequalto
a) 25 L E AN €)5 d) 1
11. The relationship between the height and radius of hemisphere Is ____
a) Nol equal b) Equal c) Less than ) Greater than
12. The height and radius of the cone of which the frustum is a part are h, units and r, units
respectively. Height of the frustum is h, units and radius of the mtﬁer'base is 1, units. If
h,:hI = 1:2 lhen s Is

a) 1:3 I}'] 1:2 c) 2:1 d)31 ‘
13. If the standard deviation of x, y, Z Is p then the standard deviation of 3x+5, 3y+5,3245is
a) Ip+5 b) 3p c) p+5 d) 9p+15

14. Kamalam went to play a lucky draw contest, 135 tckets of the lucky drav viese sold. If the
probability of kamalam winning Is 1, Then the number of tickets bought by kamalam Is

)5S b) 10 )15 . d) 20
pART - 11 '
Note: Answer any ten questions, Q.No.28 is compulsory. ~ 10x2=20
15. A relation R is given by the set {{xy)y = x+3, x € {0,1,2,3,4,5)}. Determine its
domain and ra

8.
16. If A={-2a-1,u,l:'g} and I: A-»B Is an gnto function defined by f(x) = x'+x+1 then find B.

17. Waz=—— thenlinda and a,,.
18. Find the nimber of terms in the A.P 3,6,912.+...., 111
19. Find the excluded values of **+10,
Ex -
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[¥ whose eleman = 1= 2)l.
. Cunslrutl 3 3x3 malr g s are 2 "
30 I SABC, If DEIRC, AD=x, DB = »-2, ap_ %2 and EC = x-1 then find the lengths of the

gides AR and AC.
5. Fund the eaualion 87 a ling whose intereepy, on the X and y axes are 2,3
ran 601 cosb0” 4 cal GO 5in GO is _

if the base area of a hemisphenical solig g 1396 q.Meters, then find its total surface area?
25, 1t tne ratio ef radii of two spheres is 4:7, 5g the ralio of their volumes.
35. The mean of a data Is 25.6 and its coeffigient of varialion is 1B8.75. Find the standard
I}-’\'L:'I".iﬂ”; . |
27. MP(A)=3. P(B)= =, P (AuB)= 3 then fing P(AND).
28. Find the mtercepts made by the line 4x-9y+36=0 on the co-ordinate axes.
PART - 11T
Note: Answer any 10 guestions. Q.No.42 s compulsory, 10x5=50

2(=21-16) AN AINE
Find (i) 21 (1)« 1 (B) (i) '”_u'_ e Ix-4If6<x<9

30. Lei fbe afunction s N — N be defined by {x) =3x+2, x € N,
(i) Find the images of 1,2,3 (1) Find the pre-images of 29,53
(iii) ldenufy the type of function.
A1, The sumof first n, 2n and 3In terms of an AP are S, 5, and S5, respectively.
Prove thal 5, = 3 (5, - S ). y
32. Rekha has 15 square colour papers of sizes 10cm, 11em, 12€m ......29cm. How much area
can be decoraled with Lhese colour papers? \"*‘
33. Find the square rool of 64 x*- 16 %! +17 =7 - 2x+1.

i T Fn _ = 1 —
M. Given A= “; 1], B= 1, :], Cm i :'] and If BA = C', find p and q.
35, State and prove alternale segment thegrem..
36. Nind the equation of a straight line joining the point of Intersection of 5x + 3y = 21 .
~and 2x -y =4 1o Lthe point of intersecliom ol x +3y = 16 and 2x -y = 14,
s A—sin* B
cus Syl oo’ I
3. A container open at the topis In the form of a frustum of a cone of height 16cm with radil
of its lower and upper ends are Bom and 20cm respectively, Find the cost of milk which can
complelely (il a container at the rate of Rs.40 per litre.
39. A right circutar cylidrical container of base radius 6¢m and height 15¢m is full of ice cream,
The lce cream is to be filled In cones ol helght 9cm and base radlus
3em, having a hemisphencal cap. Find the number of cones needed to empty the container.
40. Two dice are rolleu together. Find the probability of getting a doublet or sum of faces as 4
41 A wall clock strikes the bell once at 10°clock, 2 times at 2o'clock, 3 times at 3o’ clock and so
on. How many times will L strike in a particular day. Find the standard deviation of the
numbar of strikes Lhe bell make a day.
42. From the top of a tree of height 13m the angle of elevation and depression of the top and
bottom of anolher tree are 45° and 30° respectively. Find the height of the second tree,
(W3=1.732). -
PART - 1V .
Note: Answer both the questions choosing either of the alternatives. 2xB8=16
13. a) Draw a circle of radius 4.5am. Tahke a peint on the circle. Draw the tangent at that point
using the alternate segment theurem.[ }
ar
b) Draw a triangle ABC of base Bc = 8 am, ZA = 60° and the bisector of ZA meets BC
at D such that BD = 6 am
44. a) Draw the graph of y = %° + 4x +3 and hence find the roots of x? +x+1=0,
] (or)
b) Draw the graph Q(I)’J; = x*+3x~4 and hence use it o solve x1+3x-4=0.
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Jt. A function I: 1-5,9] -+ IR is defined as follows: Gx +1if-5 < x <2
. f(x) =[

37. Prove that tan'A - lan’D =
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